Rats iR

27 26 32 2% s s
- ate * paoom o  mm
Bfz  F—L 1500m 400m  800m 3000m 110mH ESE EEE EEDE =Bk ik PER 4x100m
=4 15 100m 100m  1500m 200m R 53 R
100m
1 derE 89 7 6+5 5 7 8 5 5+6 8+3 7+6 3 8
2 KiiZF 59 5 3 7 8 3 6 7 8+7 5
3 FHmE 42 2 3 3 4 1+4 8 2+4 4 1 6
4 5HIt 34 5 8+7 4 2+1 7
5 HAME 33 3 8 3 6 8 5
6 FE 32 4 4 5+1 1+7 6 4
7 P 30 8 6 8 8
8 AL 26 7 8 5+6
9 % 25 5 5 6 3 3 3
10 EES 25 3 2 3 3+1 6 5 2
11 A% 23 6 2 1 4 2 8
12 5% 22 4 2 6 2 4 4
13 ERE 19 6 1 3 7 2
14 X 18 1 6 8 3
15 &7 17 4 5+4 1 3
16 A RIR 16 2 7 7
17 JRH 14 6+8
18 #E 14 1 5 8
19 /INEB 14 7 7
20 1% 12 5 5 1 1
21 fE# 10 4 6
22 @8 9 8 1
23 Bkilia 9 7 2
24 HEA 9 3 6
25 K 8 1 7
26 £ 8 3 5
27 AE 7 7
28 MHE 7 2 5
29 REFER 6 4 2
30 % 5 2 1 2
31 5@ 4 4
32 JEE 3 1 2
33 1hHE 2 2
34 1 1
34 f7)11% 1 1
34 1=2H 1 1




